IIVHHVYS NIISSOHUIIAIY : A8 NDIS3d

QUL o 157 9LS Aurgs a8
als a2 aSe

Lowl, anAsa

:d' & .

(o 83l> ) o)L 2dS 81,8, 13 ¢« GlaoD

:fwlg :“,n.l.-' 3
+9A91A00 P IS *Al=-PPIVIFIM§.

D el HE L ST
N4
HAMEDAN.TAKSA@GMAIL.CcOM }‘O TAKSA-AGRI.IR



o oo 3 o &
OULS] Jopw ($5) 9 Arigai oaS s
v
WIS o
E1gil S law dinsj 43 (5015 Oy 9lidnS jlod 43 a295 L IMAA Jlow 3 LSS 25
Qb grali Glesj 1 ¢ Sawl 83900 jLET, 395 candlad adgls snisld g SR piobe
Uz 1 8318 b 15 LS (SR (preilile 2d Lo Ao )3 ) SLpelS gl
Sl g5 b 2aS s (gl ¢ Sl Q13 (§S LIS § jop0 (SLB BLGNS ¢ yavaSiio
il 3 Gliaabl B 28p% S JSao 1) 395 2l Aiunslygs (U5, e
139+ AB3 GhfaS 935 (f 1) 395 SlandgS g Sulad Bad (o215 g JS18 <uls,

el 1 l (maile 25w g (1B (gauadd 9 4 25w pSL> JL>

2l 3 =5 bS] dilgounl 93 990 Elgsil ¢ BLS 20K ¢ (5S 3,5 BLS ¢ (a0 L
9 2l 0 ¢ (i € ¢ (uli 1 Sty 95 Sy Elgil ¢ 0 (Sl 1A0 § 0 (il 110
o Sl 3313 1,3 395 1S 903 ;3 193 S, 9 8,2 01

G LA ;3 Sl it Oljy9LisS § P (gl giunns (51500 b Zsul 3ol

-

221372 ) 9LiS 333> LB (pdilo AadgS Ansj )3 M



< ¥V onigl )'9*»)( &y ) Type )( Rider type 2
< o o Voo ><6‘>9,:> 95999 4o ,h.9> Inlet and outlet pipe diameter)( 200mm
< o o VYV )( Jsb length )( 1320mm
([ Fehedns P e Width )( 950mm
O pe ke WAL el Height ) 1480mm

D G
[ plSsks ¥ ( 39

[ Scwlfe )0 5LEo,ee oly
< Sae Y >( Ao Slos
o dsae A )( oy Sloss

Fan diameter )( 700mm
Weight )( 300kg
Power required ) 60hp
Number of straps >( 3
Number of blades >( 8

N AN AN N IR N TN N
ENE NN N NN N NCNE
Ne N oia I N N A IR N I

(O)®TAKSACO (L) +989181102390



S 339biS drwgi &S o Gl TAKSA Ve Juo (o5 31 0l5) o5 suusio 05w
S lawgi ) dc o j0 0ul 05 olS‘s)gTéo.?&ngwHLmS}')QUL;‘W
Ay S5 ylgne a1 olwd ol . 0 380 41,8 colisiwl 3590 HLil a3 (4T JUH g (g8 olS
1) o035 o5 (5591 2oz Jos 195515 PTO joe 31 950 <l o b« 009y (o155 cald
CABS o0 ol

Gl 9 €8> Heliio 4 4T 009 95 G 95 51 9 95515 (59 5 0Nigl ) g Ol
S ailg p lawgd ciSo (yb 2 Sl b ouls 835 ol oliws (9 0 .0 guimo oo laswl olSiws
OLZ s yundd b audsd pB0 )0 9 ol 0080 Hshad (c0gb 5 b dgd (51 ,b 51 ()
&l o3l b oliws ‘s’j)b’ O 30 D gulinn 60U 149 ju St A9 1y 350 HO o o> o5 ( Igp
Ol . Canwl dsamsly o5 5 @3 3w (53] @0 9 o3y Aol (bl 10 5531l s 5lee &
pablae g ol gld Cound glylo

cmuﬁcgﬁ.’JL&MW‘wLm

Straw suction machine (straw filler) model TAKSA 70 made by Agricultural
Development Company Soheil Ekbatan (TAKSA ) who collects crushed straw
in the field by combine Straw and its transfer to the warehouse is used. This
device as a device It has been a crop constant receiving force from the
axis of the tractor to collect shredded straw he is doing it.

The device is mounted on a tractor and is of type two, which is for movement
and movement The device is used. In this machine, straw is crushed by creating
suction current by the impellers The fan is sucked through thick hoses and
during discharge by changing the flow direction Air, the straw collected in the
tank is blown out. The efficiency of the device to some extent It depends on the
operator's skill in moving the hose and collecting straw faster. Device It has the

following main parts : Chassis, transmission, suction fan

(O)®TAKSACO (©+989181102390



: sl

Jdgy goland 5l a8 sl (goV¥ g8 o5l S O g0 4 olSws (pl ol g
Dgdan lgw o g, p Dlakad g Il adS ¢ ool sl oV ed iz 5l Slogls
Sl 999, K0 Jiis Guej 4 (ol @)k 5l oliws (355 odes )15 plSn 50
Sl ey 595 2 S by vus Yz abewg 4 )15 e 1o jelaie ()
b 0

u..&.o J.>|3

A8 (8 SG g (s sl (o9 S sl () e 99 3l eaiSe w2y
02ol)> CSy> @y )9Sl PTO lawgs oaiSlo o8 . Sl oo LSCid jo oo £
o5 0393 dy yghad eghoy> dlg) G b jl s Olyz WSk sl Gieg 0 Sl Ol 9

33,80 033w 09)3 A 0l LS s § 00 Jiiio deyio ) 39>g0

Chassis:

The chassis unit of this device is a steel structure made of a
number of profiles Gutters made of steel, all components and
parts are mounted on it During operation, most of the weight
of the device is transferred to the ground through the and for
This is done by placing four metal bases on the ground while
working Finds .

Suction unit :

Suction unit of two ducts (one for suction and one for drain) and
a fan to diameter It consists of 690 mm. The suction fan is driven
by a PTO tractor And creates a strong air flow. Air flow sthrough
a thick hose pipe to the straw mass The product is transferred to

the field and causes the straw to be sucked into the tank.

(O)®TAKSACO (L) +989181102390



I~ o slo ol SeS @ Glo)5 jemme Gyl Sl ST Gadg 69
downd (3 pbo 3l oaiSo (8 4 Oyl el 00,8 e Jiiie o 00iSe (8 @
P> (25,5 alas (0l Sgaas 5l 5T ol sl Geiaren - 35 plox

) 095 (59, 45 Canl 00l das oS S 5 g 00iS O3] s SG ¢ ASS
CASe ol Iime (Jg g dond

:abads dw Lo

Sz sl 4 Jlail ca (Sl 5l 90 Jolds alais ans Ll o
Sjlacse o2l,8 1y 495515 4 oliws Jlail bagsb cpl a5 cwl ooy s 92515

Transmission system:

Tractor production power through the steering axis with
the help of belt-pulley mechanisms It is transferred to the
suction fan of the device. Transmission of power to the
suction fan through the belt Done. Also to prevent the
outlet from being blocked in time Drain, a straw release
and embedding system is embedded to force yourself
Provides a separate belt and money.

Three-point connection:

Three-point connection system includes two lateral arms for
connection to the lateral arms Tractor and center arm in the
upper part to connect to the middle arm A tractor is installed

that connects the device to the tractor

(O)®TAKSACO (©+989181102390



(0£T73AOW ) 1SIT7 14Vd HIMDNS MVHLS VSAVL



(O)®@TAKSACO (L) +989181102390



TAKSA STRAW SUCKER PART LIST ( MODEL 70)

Part code / azhs 35 [Qty / slass Part Name / ash3g oL Row |[[Part code / ashs 55 | Qty / slass Part Name / ash? oU R
MAK1000032 1 Tighten the strap plate / ,S <iéw aous axdo 28 MAK100035 1 Fan protector/,% khilxo 1
MAK1000034 1 Big money bearings / 3, Jo2 0BLL 29 MAK100039 1 Outlet pipe/_=g,5> agJ 2
MAK1000040 1 Small money bearings / S>gS (Jg2 0BLL 30 MAK100046 1 Fan/,% 3
MAK1000026 15 Washer / 27*13 ,ulg 31 ||MAK1000013 1 Chassis/ _wl& 4
MAK1000029 15 Screw / M12*1/5*50 g 32 ([IMAK1000017 1 Connector between fan and bearing/oBLL 5 8 o oxi> Juasl| 5
MAK1000015 2 Bearing support corner / ;BLL 65,1355 s 33 [[MAK1000020 8 Washer/20*11 ,uolg 6
MAK1000011 1 nut / M12*1/5 0,0 34 (IMAK1000037 8 Spring washer 15/ 155,38 ,ulg 7
MAK1000036 1 Screw / M12*1/5%65 au 35 [[MAK1000024 8 Screw/ M10 1/5*30z. 8
MAK1000042 1 Strap frame holder base / aouws L8 65,1265 by 36 MAK1000022 2 Washer/30*17 ,ulg 9
MAK1000016 2 nut / M16 6,00 10
MAK1000044 1 Tighten the belt bolt/ ¢, waw acuws a0 11
MAK1000041 3 nut / M8*1/25 0,0 12
MAK1000031 3 Screw / M8*1/25*20 z. 13
MAK1000025 2 Grace Eater 6 / 6 ;95> u)S 14
MAK1000030 1 Sliding thorn 60 /60 _gisS > 15
MAK1000038 1 Sliding thorn 40 /40 _gisS ), 16
MAK1000043 1 Sliding thorn 50 /50 _gis ), 17
MAK1000021 1 Binocular thorns 45 / 45 _exuzg> )5 18
MAK1000010 4 Bearings 6308 / 6308 Sy ,ulu 19
MAK1000012 3 Slotted nut 32/ 32 ,I> Sl= 6,00 20
MAK1000019 1 Large money shaft / S, (Jg2 wdli 21
MAK1000018 1 Small money shaft / <Sz>gS (Jgy wdli 22
MAK1000027 1 Small money / SzgS Jg2 23
MAK1000028 1 Big money / S, o2 24
MAK1000014 3 Belt83 / B83 aouui 25
MAK1000045 1 Belt frame / awouws B 26
MAK1000033 1 Fan guard door / ;8 bélxo w)> 27

(O)®TAKSACO (L) +989181102390



Soheil Ekbatan Agricultural Development Company

v

In the name of God
TAKSA CO. has been established to produce hay harvesting

machineries in 2008 It has been progresses at manufacturing
agricultural machineries through its developed machinery plant
since its establishment day , technical possibilities and expert
staff. It has been continued its being worldwide preferref firm
feature,a safe trim qualification through producing world wide
competitive products Our firm that continues to increase its
current product , now TAKSA has been expertise machineries
such as mower165 , moweri85, and type of rakes , baler and
straw chopp to produce.

TAKSA that forwards step by step the way of being a leader mark
its sector continues to perform all of its investments that

one in thisway.



Ekbatan Soheil agricultural development Co

Straw Sucker

»

Q

&

Address:

Next to gas station. 8 kilometer.
Persian gulf road . Hamedan.lIran

Telephone: @ Whatsapp:
081-32672390 +989181102390

Website: - Email :
7|
TAKSA-AGRLIR ”Arg HAMEDAN.TAKSA@GMAIL.COM

DESIGN BY : AMIRHOSSEIN SAHRAEI



